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I'he waveforms of a series AC circuit are

shown in the figure. /
a)- Write the mathematical expressions

for v() and i(1) if the frequency is 601Z.
b)- What is the power factor of this circuit?
¢)- Determine the type and value of the
elements..

Q2)-

a)-The sinusoidal waveform is V(1)=60 sin (377t +20°) V , sketch the waveform , and
determine

1- Average power. ~J eMse
2- Effective value.
3-

The magnitude of the waveform at t= 6ms

Q3)-
For the circuit shown in the figure. 71
Z1=4-J6 , 72=-J6, I

Z3=J4 and Z4=2Q 3oV

»
+

a(.f\

Determine the value of Z, for

maximum power to the Load, and
hnd P

/f’?\\ -~
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Q4)- 1. = 0. A
=100

For the circuit shown in the T

figure, the total current leads

the source voltage E by 53.13° 3

a)- Determine the valye of the
unknown element.

b)- find [
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